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NOTES: Section 7.6 - Systems of Linear Inequalities

Goals: #1 - I can graph a system of linear inequalities. @

Homework: Section 7.6 Worksheet

Warm Up:
1. Use the graphing method to solve the linear system and tell how many solutions the
system has.
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2. Use substitution or elimination to solve the linear system and tell how many

solutions the system has.
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Exploration #1: Work with a partner and graph the following inequalities on a number line.
2.x2-3

1. x<2
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Exploration #2: Work with a partner.
1. Which of the following ordered pairs are solutions of 3x + 4y > 87
a. (6,-3) b. (=2,-1) c. (3,2) d. (0,2) .
3+ 4(-3) >8 (-0 78 3(2)4() 7 30 () 7
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Notes:

To graph linear inequalities, we need to first % ! Q.Q h the function.

We use a dﬂﬁm\)k lmeforz_ 7 anda 30\\m lmefor_,__7_

Then, we ﬂ points not on the line to determine where to S n (l(n

Example #1: How would we represent this on a graph?

1. y<-3 @6”Lf’h\5 3
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Example #2: Graph y > —2x
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Example #3: Graph 5x — 2y < —4
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Warm Up: Graphx + 2y < 6

Test: @()‘(L?h X 12&‘\0
x _L‘ﬁ- -X ¥V
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Exploration #3: Work with a partner. Graph both linear inequalities on the same graph.
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Identify the reglon that is ) ‘

&‘J‘ (g t%]bo“th graphs.
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Explorauon #4: Work with a partner. Graph both linear inequalities on the same graph.
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Identify the region that is shaded on both graphs.
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Notes:

A SUSKM 06 Ay iNeqUANTE stsorewo WOLOT [N ELVALITTES

The _D 0 \\) n QY\ of a system of inequalities is the graph of all _5_0_\_0_{1&-[]—5——
of the system (the (QQ\] \\) ﬂ where the SY\ M‘ N EAJ overlaps).

When there is _&ﬁ_ shaded region that overlaps, the system has _‘n ) Sﬁ \ U n 0n

Example #4: Graph the system of inequalities.

1. x+y<3
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Example #5: Graph the system of inequalities. /\ ,
1. y<2 — J
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Example #6: Graph the system of inequalities.

O 1. y<3 “
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CHALLENGE: Graph the system of inequalities.
1. x<10 : /k
5 <
x=-2
6 -5 -4 -3 - T4 5 —4+ 3
2 {
3x+2y<6 : 3
1y~ ’ax th Cl
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6x +4y > —12 J
4y= -bx-12
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